
© Studyladder

Name:Division

Warm Up

1)       40 ÷ 10 =

2)      20 ÷ 10 = 

3)     70 ÷ 10 =   

4)     60 ÷ 10 =   

5)      30 ÷ 10 =    

6)     80 ÷ 10  =   

7)      50 ÷ 10 =   

8)     100 ÷ 10 =   

9)     90 ÷ 10 =   

10)      ________  x 10 =  60

11)        ________ x 10 =  40  

12)       ________  x 10 =  100

1)     60 children were told to form 10 lines with an 
equal number of children in each line. How many 
children were in each line? 

2)     There are 40 pencils. Rosie is asked by her 
teacher to place an equal number of pencils in 10 
tins. How many pencils must Rosie place in each 
tin?

3)     10 identical T-shirts cost $110 to buy. How much 
will each T-shirt cost to buy?

4)     Section F of the hospital has 10 wards. There are 
the same number of beds in each ward. If there is a 
total of 80 beds, how many beds are in each ward?

5)    50 flowers are equally distributed in 10 bowls. 
How many flowers in each bowl?

6)    For distribution to shops, 100 necklaces are 
packaged equally into 10 boxes. How many 
necklaces need to be placed into each box?

7)    The total weight of 10 concrete blocks is 120 kg. 
What is the weight of each block?

8)    There are 60 chocolates in a box. Shared  
equally between 10 children, how many chocolates 
will each child get?

9)     Water from a full 90 L drum is poured equally 
into 10 containers. How much water is in each 
container?

10)     There are 90 rocks in a bucket. If 10 children 
take turns picking out a rock until none are left in 
the bucket, how many rocks will each child have?


